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component equals, \

= 2.1 d) 1.2
0 (2) 21 m ®)-12m e 2k F_._\.___. “+.6 = |AlyRl Cos

3 The velocity.of &

. The anjtle between the b veclars A=ieap K and B=
at ary tma is given by the equation, w40, 517) ._...._.“h.

averags nceslention of the car between t=12 and =335,

(w) Arals’

mfs’ (d) | mfs’

(b)3 mfs" _.\&lu
4. Using the equation of previeus problem, | £ fntaneous acceleration at t=15

equalk,

[a) Am/s’ (3 mfs® (6) 2 mis’ \E\_~ m/?
5. A hall is dropped from a tall Eneilalng from jest, _ﬁ._un....:o: of the ball after 2 2 is,
A (a) 10m (b0 m y20m () ~20m
6, Cilven A=6E+3}=k and B 548k, the maghitude af 14 = B eqnals,
f..)ﬁj i (bt ()19 () 20
" 7. o car moving with x =2~ 0,25 {}m and = (140,025t )m, the distance of the car
from tho originst 2 s sy - .
{a) 2.1 m _.\km“___m_u_: {o) 2.3 m {(dI24 m
#. A noat jumped off the edge ofa chil with & horizontatvelocity squals 9 m/s, tha
(x,y) components of its po tion at 10,5 second is,
(a) (1.2,~4.5)m =2, 4.5)m {c) (4.5,=1.3)m (d) (=4.5,1.2)m
_, 9 A player hits n ball with initial velocity of 37 mfs ‘with &n anghs 53,1, the muxdmum
ot height that the ball can tesch I,
___. | {a) 34.3 m (b)E43 m 43,8 m (d) 4.3 m
o+ 10.A long jumper lsaves the grotnd ai an a) af 20 above the horiZontal at a mpoeil
/ an__.ﬁu___ﬁaiw_\__mw_ﬂuﬂ:r @
(o) 2.4 m Sm o) 4,97 m (0) 247 i
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T
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the Particle at ¢ in m/é is, ..
a) z&rQ (b) 0.28 (c)3.5 (dy 7
A. A stone is thrown from the top of a hill with initial velocity of 20 m/s ut
an angls of 3711 [t reaches tho pronmnd after 2 8 “The height ( 4.0 affthe
hill is, i O R S (ol A

(a)-80m hsim  @FlASm &ﬁ.ﬂ.ﬁwﬁ
5. For the previous problem, the magnitids of the sions v ity just before

R

it hits the ground is,
(8) 63.2 m/s b)236mls  (c) 669 m/s in@\_ 7.7 mis.
&, A particle moves along the <-axig sccording to the equation ( Viha il o)

x= -(20 + 3¢ -5) m, the acceleration of the particlent t=2 s is,

(&) -30 m/s* * (b) 18 m/s" () 30 m/s (d) -81 m/s*
\\\ 7. The volune ( p==) of a sphere ( 5.5) a5 a fimetion of time iz given by V =

bt%. The dimension of b ==

(a) LT - ABLYT (1L (@) T/L

8. A builet (At jjhyas fired from a horizontal rifle (L) wir! initial
velocity of 500 m/s on 2 300 m awal target, =+ the bullet ur....__"nu the

target at uals,, .

?“_mm."ﬁ 4 (1) -0.78 m 176m  (d) 176m

9. A jumper leaves the ground at an e mﬁ% pial with a

in:mulu.ﬂ“ﬁmaﬂwﬂhuwﬂnﬁﬂ. & maximum

height is, camtass - .

(a)3.85 (b)83s AB)0.53 (1) 038 s -
. 10.For the jumper in previous problem, iie haZunun range [ es3ali)is,

(2) 29 m (b)9.74m. ) 7.94m 14 m
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The dimensions of Blare: -
s} LT o —

2z A Sy EE..._.w o & straight road with covstant acceleration of 8 m/s? sovers 8 disiipce o
twa E“Hu._.fﬂn i, 100 ma par, in 10 seconds. Find the final velocity lin s} ab point 1

)28 %m_- 2 110 o
ﬂﬂ.rt.ﬂ..”wu felbrving siuations, which one in impossible?
s, s
8) A body kaving velocity =ast and accelrcation es 2
b A body having velocity enst end scceleratiawest. R
0} A Edy haviag variable velozity and consiand secelerstion. £~
- @_’ body having consiani velocly and variable scocieration. -

-_

O4: An object maves along the x-coordinates acconding to the equstion T=(31"-3) m. Dete il

Eiﬂﬁ%ﬁﬂlm&?n 7.
@a mu'z by 16 mis <} 10 mfs dj 18 mii's

Q5 A Ball HEE,EEEEEEES_ H.EmELFEE.:ﬁaEEE_EE w
14 E-rﬂﬁﬁnma::m Thye initial specd (inmfe) of the ba'l ix:

a) 30.2 (B € 10.2 dy 19.4
Q6: What is the angle f#ﬂnn:ﬁ.ﬁﬁnﬂ A=3i—jmd B=27-5}1

= a} 223" @ d) 40°
innﬁﬁﬁaﬁ+iaﬁﬁﬂruﬁ%uﬂaiﬁﬂ

O7: A vector Ahas posi
length, What is vhe magnitede of the second vecior B wheo added 1A gives 2

i weelis with no ¥ componanl Enﬂnﬁ.ﬁqﬂn?ﬂn.-ﬂ:ﬁ s Jength?

(2 b) 3.6 = )0

O A prujictile is tiped in mich 2 WAy
horizantal disiznce of 320 m away. fhe projection dagle {io aﬂ..i-.___.&

.m0 b) 35 99 \_.Mwu
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1. The position of a particle maving along the
3(1) = 2 - U, The averags accelertion (in ms’) of il pat

t=1sin : ==

{a) -9 ((h¥s L3 | ()1
.\ﬁquum“..ﬂ_w.:uﬁ_L._.E_..H.LL.T a_ﬁﬁ_m_ﬁwi-f?m .
(a) 6.1 by 5 (<)l m_.mub.\

7, What s the value of [10 Kg] 7 -. .
@710 (b)L (e) 10L L&ﬁ\

ulong the ¥ axis according 1o the squation x(f) ={- t' =31 4+2)m. The

4. An :
aL¥s? 2o (| zeal ) .
LY (h) & — {c) 3 (d)-3
_wv»..\...\m.._.___.__. Ball is throws disectly downward, with an tnitinl speed of 4m/s, lrom a hoight of h
the height ofh 7

EEFw.n.u;._nun..ﬂ&n “_u..nn_.._._..__:._.._ﬁ_i
u ..E_u @.,w,u Emm
6. K'poinis in the .y plaie have .nF:_ﬂ.d.E.En:_En_nu _E,_m.E E.ﬂﬂn:ﬂ.ﬁn.._uﬂ__#?..:
polar coordinales,
.m.w: £ (b 50" %_. (@) 33°
T A _E_.m Tnitially located at the origin las an accelerstion of & =3.0J m/s" and an
initinl velocity of ¥ — 0] ma The vector position {ins ) of the pasticle at 1= 208 i
AADI6E+ 6] (b) 4i +6] (c) 41 +3] (@)1 +5)
=5 A long-jumper Jeaves the ground at an angle ol 40" above thie horizantal and ata speed
uH.__bE____n. muiE?ﬂEHEFErﬁﬁ:ﬂﬂ -

direction? »
L (L] )52 ﬁ\»\xﬂ\\

9.1f A=61—-3] then 24 has n magnitude of
(@7 )13 () 19 ()22
10 The direction of displacement depends on b
(m) welocity () distince . (c) force r\.@m&_ and  initinl
rn_ﬂ-_#.ﬂ_.__. T Mg = --..ﬂl__u_ G2 ”.m._-iﬁ-_.;ﬂ__.
Lol N T stum theYE % snoestusyle A
. rIM._nL. _m.sn u.mr..u. . - .mB.... .
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ot he Eﬂmn__: of a particle moving along the x-nxis is described by the relation:

x(t) = 2 - ', The average scceleration (in m/a) of that particle in the time inteyval t =0s 1o

t=12sig

w::”_hu_q,u\t+ B=2043],a0d G =142, the magnitids of A+B+C in
{a) & b} 5 (c)? . {dy1
%, What is the value of [10 dyes] 7 .

_m__.__ x._.

Y

(a) 10 (b)L Ac) 10L H\@f.ﬂ
A An ohject moves tlong the x axin according to the equation x(ryw (=" =314 2)m, The
gpeed al 237
Y ) B (b} 6 \.wn.nu 7 (d) -4
_\. " A ball is thrown dicectly downward, with an initial spend of Sov/a, from o height alh
L il takes 25 1o reach the ground , what i the hetght of h 7
{a) 36 () 13 (o) 15 (d) 69
___.WE A points in the xp plane | ‘e Cartesinn coordinates (10, 12.) m . Determine its angle in
L
nates.
polar coordi 2 h“ © = @ 5

{n) 76 N.
__m..\.m_..__.,..__._____T particle initishy located at the origin has an pcceleration of WM...::H nye® and an
Fal

initinl velocity of ¥, « 4,07 e The vector position (in m) of the ﬂﬁmn_nua.:m,nsw.
W) Bia6] (b) 4146 () Ai+3) (6) 3 +5]

., X long-jumper ltaves the ground a

of 11.0 m/a. How far does he jump in the horizental direction?
@ (b) 10 (c) 52 (d) 6

9. If A =3 —9] then 24 has s magnitude of

@7 o (©19 @2

5]
10. The direction of average velocity depends on .
() speed ﬁ@vnmﬂhﬁﬂiﬂ (¢ foree r..m..aA.Eh\H.M_
- Ao 31 Aisa)
A aSilall Sl ety

t anangle of 60° above the honzontal and at a spead

N e g



